MgsTeOg Structure:

A3B6C_hR20 148 f 2f ab-001

Cite this page as: H. Eckert, S. Divilov, A. Zettel, M. J. Mehl, D. Hicks, and S. Curtarolo, The AFLOW Library of Crystallographic

Prototypes: Part 4. In preparation.
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AFLOW prototype command aflow --proto=A3B6C_hR20_148_f_2f_ab-001
—~params=a, C/a7 T3,Y3,23,T4,Y4,24,T5,Y5, 25

Other compounds with this structure
BigDyOG, BigEI‘OG, Bi3LU.067 BigYO6, CagUO(g7 La38c06, LigAlH(g7 L13A106, LigCuFG, LigFng, Li3VF6, 1\/[gngO67 NIngTQO(;7
MH3WO6

e Hexagonal settings of this structure can be obtained with the option --hex.

Rhombohedral primitive vectors

ap = %a&—%ay—l—%ci
az = %ay + %Ci
ag = —%af{—%aer%ci
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = 0 = 0 (1a) Te I
B, = sa;+jax+5as = sc2 (1b) Te 11
B; = r3aj + yzas + 23 as = %a(xg—z;;))‘(—%g (r3 —2ys+ 2z3) y + (6f) Mg I
sc(zs+ys+23) 2
B, = Zza] + Trzas + ysas = —%a (y3 —23) X+ {a (2$3 — Y3 —2:3) v+ <6f) Mg I
sc(w3+ys +23) 2
Bs = yzai + z3az + w3a3 = —ja(zs—ys) X— \ég (r34+ys —223) ¥+ (6f) Mg I
%C(xzs +y3 + 23) 2
Bg = —T3a; —Ysas — 23 a3 = —la(ws—z) %+La(es— 23 +2) (6£) Mg 1
sc(z 3+y3+23) Z
B7 = —Z3a1 —T3zaz —Yysas = %a(yg 723) X — %a (2$3 — Y3 72’3) 5‘,7 (6f) MgI
%0(553 +ys+23) 2
Bs = —Yzap — zz3az — r3ag =  ja(zz—y3) X+ %a (x3+ys —223) § — (6f) Mg I
tc(ws+ys +23) 2
By = Tya1 +ysas + 24 ag = %a(m4—24))‘c—%‘g’a(x4—2y4+z4)§/+ (61) 01
%C (T4 +ys+24) 2
Bio = Zgay + T4z +ysa3 = —%a(y4—24)i+§a(2x4—y4—24)§’+ (6f) Ol
sc(za+ys+2) 2
B = yaar + z4az + x4 a3 = —%4(334—94)5(—%&(334‘*‘94—224)5"*‘ (6f) 01
%C( 4+ ys+z) 2
B, = —T4a1 —Ygaz — 24a3 = _%‘1@4—24)5(‘“? (T2 —2ys+24) §— (61) Ol
tc(watys+2) 2
Biz = —z4a) —T4a3 — Ys a3 = a(ya—z) X — %a(2$4—y4—24) y - (6£) 01
sc(Tatys+21) 2
By = —Ysa1 —2Z4a2 — 2483 = ja(zs—ys) X+ %a (T4 +ys—224) § — (6f) 01
sc(Tatys+24) 2



B15 = Trsaj +Ysaz + z5as = %CL (£E5 — 25) X — \/Tga (565 — 2y5 + 25) 57 + (Gf) oIl
%0(15 +ys + 25) 2

Bis = zZs a1 + x5 az + ys as = —ga(ys —2) X+ a2z —ys — 25) §+ (6f) ol
s¢(zs +ys +25) 2

Bir = Ys a1 + 25 ag + Ts as = —%a(x5—y5) i—%a(x5+y5—225) v+ (6f) O 11
%C(Is +ys + 25) 2

Bis = —Tsa; —Ysaz — Z5ag = —%a (x5 —25) X+ %a (5 —2ys5 +25) § — (6f) on
s¢(z5+ys + 25) 2

B19 = —Zz5Q] —Tsag — Ysas = %a (y5 — 25) X — %a (2.135 — Y5 — 2’5) y — (6f) O1II
%C(% +ys + 25) Z

B2 = —Ysa1 — 2582 — X5 a3 = ja(zs —ys) X+ ?a (r5 +ys —225) § — (6f) ol
%C(% +ys + 25) Z
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